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Question Number : 1 Question Id : 973597359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a First Generation Computer?

Options:
1 % STAR 1000

5 % ABACUS
- % ATLAS
4 ¢ SEAC

Question Number : 1 Question Id : 973597359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

. % STAR 1000
, % ABACUS
5 = ATLAS

4 v SEAC

Question Number : 2 Question Id : 973597360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT an example of Video Codec?

Options:

1 ® DivX
> # Xvid
3 « CSS

4 ® WMV

Question Number : 2 Question Id : 973597360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % DivX
. = Xvid
- ¢ CSS
L = WMV

Question Number : 3 Question Id : 973597361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following devices is used in applications such as Computer Aided Design (CAD)?



Options:

1 « Plotters
- % Printers
= % Scanners

4 » Pantographs

Question Number : 3 Question Id : 973597361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1.»‘*’“"_""@
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- % ThAW
4 % UseHErH

Question Number : 4 Question Id : 973597362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT a Performance Measuring Parameter of a Hard Disk Drive?
Options:

| % Average Access Time

> « Baud Rate

5 % Average Latency

4 % Data Rate

Question Number : 4 Question Id : 973597362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 5 Question Id : 973597363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is FALSE about Smart Cards?



Options:
, w Smart Cards have embedded Microprocessor

> % Smart Cards have embedded Memory
5 % Smart Cards’ Microprocessor has an embedded Operating System

4 « Smart Cards have a built-in Bluetooth

Question Number : 5 Question Id : 973597363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 6 Question Id : 973597364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The term QR Code with reference to Barcode Systems stands for:

Options:
, w» Quick Rectification Code

> % Quick Remittance Code
5 Quick Response Code

4 % Quick Raster Code

Question Number : 6 Question Id : 973597364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 7 Question Id : 973597365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



A computer software for which the software’s publisher retains intellectual property rights in the fonn of Copyright of
the Sowce Code i3 known as;
Options:

1 ® Freeware

5 % Open Source Software
5  Proprietary Software
4 % Malware

Question Number : 7 Question Id : 973597365 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ue FEgET Airesay, e BT mreETT ofemir F oTH WW 1 & FninEe & w9 7 atfas w@ve
AT grET £ e v # s e E

Options:
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Question Number : 8 Question Id : 973597366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following translates the Source Code to Executable Machine Code?

Options:
,  Compiler
~ % Parser

5 % Interpreter

4 % Executable

Question Number : 8 Question Id : 973597366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
| o FAER
5 % T
UFSA g

4 % ~



Question Number : 9 Question Id : 973597367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In operating system terminologies. the term VFS is an abbreviation of:
Options:

1 % Virtual File Stack

- » volatile File System
- u virtual File Syntax

4 « Virtual File System

Question Number : 9 Question Id : 973597367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
HTOIET ees egafeoay A, g Svwew (VFS) forger gfeea a7 22
Options:
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Question Number : 10 Question Id : 973597368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To change a working directory in Linux. which of the following commands is used?

Options:
1 ® cp
- % cat

5 % ChangeDir

4 « chdir

Question Number : 10 Question Id : 973597368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 #® Cp

- % cat

- % changeDir

4« chdir



Question Number : 11 Question Id : 973597369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The scripting language JCL used on IBM Mainframe stands for:

Options:
1w Job Control Language

- % Job Consolidation Language
5 % Job Compilation Language

4 % Job Correction Language

Question Number : 11 Question Id : 973597369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 12 Question Id : 973597370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An algorithim that invokes itself repeatedly until a certain condition matches is known as:
Options:

; w Distributed Algorithm

- u Parallel Algorithm

5  Recursive Algorithm

, % Quantum Algorithm

Question Number : 12 Question Id : 973597370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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4 % FEIEH TEINTIEH

Question Number : 13 Question Id : 973597371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a Proprietary Operating System?

Options:
1 # ReactOS

> % Ubuntu
= % FreeBSD
4 « Windows 7

Question Number : 13 Question Id : 973597371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® ReactOS

- # Ubuntu

2 % FreeBSD

4 + Windows 7

Question Number : 14 Question Id : 973597372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Identify the popular programming language which is used for developing multimedia web pages.

Options:
, % COBOL

- o Java
3z ® BASIC
4 % Assembler

Question Number : 14 Question Id : 973597372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 973597373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Windows O.S. the Task Manager utility can be opened by using the keyboard shortcut:

Options:
, % SHIFT +M

> % ALT+DEL
- % SHIFT + DEL
4 v CTRL + ALT + DEL

Question Number : 15 Question Id : 973597373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, % SHIFT + M

., % ALT + DEL

- % SHIFT + DEL

.« CTRL + ALT + DEL

Question Number : 16 Question Id : 973597374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In Network terminology. DHCP stands for:

Options:
, » Dynamic Hop Count Protocol

-  Dynamic Host Configuration Protocol

- » Dynamic Host Connection Protocol

4 % Dynamic Hop Configuration Protocol

Question Number : 16 Question Id : 973597374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 17 Question Id : 973597375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following is used to troubleshoot Microsoft Windows startup process?

Options:
, v MSConfig
5 % BootMegr

z % Kemel32
4 % RunDLL

Question Number : 17 Question Id : 973597375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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formr =T B

Options:

, « MSConfig
-, % BootMgr

z % Kernel32
4 % RunDLL

Question Number : 18 Question Id : 973597376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which af the following 15 a compuer program that blanks the sereen o fills 11 with movang nnages or pattems when the
COomputar 15 not in wse?

Options:

1 « Screensaver

> w lmage Scanner
- » Desktop Catcher

4 % Monitor Reader

Question Number : 18 Question Id : 973597376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 19 Question Id : 973597377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following options defines the techmique of taking a variable-length password and creating a fixed-length
pazaword from it?

Options:
, = Resetting

- u Recuring

- % Normalizing

4  Hashing

Question Number : 19 Question Id : 973597377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
aET Teesr § ¥ 59 a1 Beee af@ea-3y 35 HeEE #7196 308 UF hers-dy are qraas
FT FAT T Tl F TR &ar 17

Options:

o JrafesT
5w R
TR
4 &Ry

Question Number : 20 Question Id : 973597378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A starudalone malware program that rephicates itself m ovder to spread throngh 2 computer nelwork 15 commonly known
A%
Options:
1 #% Adware

o Computer Worm

- % Irojan

4 w Tracking Cookies

Question Number : 20 Question Id : 973597378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 21 Question Id : 973597379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In computer threats terminologies. the activity to record the keys struck on a computer keyboard is known as:
Options:

, % Keyboard Assessment

» » Keyboard Typing
s » Keyboard Writing

4  Keyboard Capturing

Question Number : 21 Question Id : 973597379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 22 Question Id : 973597380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Windows Q.5. a hierarchical database that stores low-level settings for the operating system. application programs
and hardware 1s known as:

Options:

1 % Administrative Tools

> % Control Panel

-  Registry

4 % Programs and Features

Question Number : 22 Question Id : 973597380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 23 Question Id : 973597381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The method in which the logical size of a file is reduced to save disk space and also for easier and faster transmission
over network 1s known as:

Options:
1 # File Truncation
> % File Transfer

- » File Synchronization

4  File Compression

Question Number : 23 Question Id : 973597381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 24 Question Id : 973597382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In UNIX system. which of the following commands is used for copying files and directories?

Options:
, % Copy

2 o OP

5 % Copycon

4 u CopyFile

Question Number : 24 Question Id : 973597382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, = Copy
2. v CP

- » Copycon

, » CopyFile

Question Number : 25 Question Id : 973597383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following terms describes the metadata associated with the computer files?
Options:

1 % File Location

> » File Naming

= « File Attributes
4 # File Extensions

Question Number : 25 Question Id : 973597383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

Question Number : 26 Question Id : 973597384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In file system terminologies the term NFS stands for:

Options:
, w Native File System

-  Network File System
5 » Node File System

4 # Number File System

Question Number : 26 Question Id : 973597384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:
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Question Number : 27 Question Id : 973597385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The unprinted digital document file is often known as:
Options:
, % Blueprint

-~ % Hard Copy

5 » Tlemplate

4  Soft Copy

Question Number : 27 Question Id : 973597385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
¥ B crars wEd & ¥FW FF & 7 S« S 27

Options:

Question Number : 28 Question Id : 973597386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Windows O.S. using the keyboard shortcut of “Windows Logo + L would:

Options:
, % Hibernate the computer

-~ » Putthe computer to Sleep
s  Lock the computer

, » Logout the current user



Question Number : 28 Question Id : 973597386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 973597387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following software applications would be the most appropriate for performing numerical and
statistical calculations?

Options:
1 # Database

- % Document processor
- % Graphical package
4 Spreadsheet

Question Number : 29 Question Id : 973597387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 30 Question Id : 973597388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The blinking point which shows your position in the text is called:

Options:
1 % Blinker
- o Cursor

= % Causer



4 % Pointer

Question Number : 30 Question Id : 973597388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 973597389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
You can use to copy selected text, and to paste it in a document.

Options:
| w CTRL A6, CIRL +V

» & (CTRLAC; CIRL 7
o & (CIRLA-8/CTRL, 8
4 % SHIFT+C, ALT +P

Question Number : 31 Question Id : 973597389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » CTRL + C, CTRL + V
, % CTRL + C, CTRL + P
. % CTRL+ S, CTRL + S
, » SHIFT + C, ALT + P

Question Number : 32 Question Id : 973597390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The feature in Word automatically corrects certain spelling. typing. capitalization. or grammar errors.

Options:
1 # Autofix

> w AutoSpell
= % AutoMark



4 « AutoCorrect

Question Number : 32 Question Id : 973597390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 33 Question Id : 973597391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a part of MS Office Suite?

Options:
1 ® Word

> « Word Pad
z #® Excel
4 % Power Point

Question Number : 33 Question Id : 973597391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1_&3@'
o v TUET
3_%@3

, x TET 9IS

Question Number : 34 Question Id : 973597392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following technologies works in the backeround while inserting a spread sheet into a MS Word file?

Options:
1 « OLE

> % OOXML
5 % PDB



4 % MTP

Question Number : 34 Question Id : 973597392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, v OLE
, % OOXML
- » PDB
L # MTP

Question Number : 35 Question Id : 973597393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is FALSE about a Word document?

Options:
1, %
Blue Underline — Word is spelled correctly but doesn’t seem to be the correct word for the sentence

> % Green Underline — Grammar Revision Expected

- » Red Underline — Possible Spelling Error

4 « Yellow Underline — Paragraph Formatting Error

Question Number : 35 Question Id : 973597393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 36 Question Id : 973597394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid Word Template Extension?

Options:
1 ® DOT

> % DOTX



s v DOTS
4 % DOTM

Question Number : 36 Question Id : 973597394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fTafafaa # 9 #i9 @ 32 craee tagaea & o 3w a7 872
Options:

, % .DOT
., = .DOTX
- » .DOTS
, = .DOTM

Question Number : 37 Question Id : 973597395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is TRUE when an Excel spread sheet is Embedded as an Object in MS Word?

Options:
; w Information in the Word File is updated if the Source Excel spread sheet is modified
-  Information in the Word File doesn’t change if the Source Excel spread sheet is modified

- % Information in Excel spread sheet is completely lost when it is embedded in MS Word

4 % Itisimpossible in the first place to embed an Excel spread sheet into MS Word

Question Number : 37 Question Id : 973597395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T U TFOe ToEfT &F TATE 32 H U Heade & §7 § UFaeeE &5ar =rar £, ar 30+ B
=T & T #i9 a7 T 22

Options:

i %
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gr ST 2
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Question Number : 38 Question Id : 973597396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To change the orientation of a document, which of the following Ribbon Options is used?

Options:



T’ Page Lavout

> % References

= % Insert

4 w Design

Question Number : 38 Question Id : 973597396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

UE IEgHT F AT TEew & v Seefaite & § #i § e Teer o waer e s e
Options:

| v 9 WHET

> % {HEH
5 % FTEC
4%33%3-@?

Question Number : 39 Question Id : 973597397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To save a Word Document in Open Document Format, which of the following extensions is used?

Options:

i1 KIDE
> % .OCR
= % RTF
i FXT

Question Number : 39 Question Id : 973597397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e SHFgET FAT # UF 3= SiHgET F 99 F4d & v, FeAiad ¥ &9 ¥ UTEResE # 94
Teram =TT &7

Options:

| v .ODT
, # .OCR
- = RTF
4% TXT

Question Number : 40 Question Id : 973597398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In MS-Excel. which of the following keyvboard shortouts is used to jump from the first column to the last column and
vice-versa?

Options:



1 « CIRL+ Right Arrow. CTRL + Left Arrow
5 % CTRL + Down Arrow, CTRL + Up Arrow
- » CTRL +PgUp. CTRL +~PgDn

4 % CIRL+> CTRL +<

Question Number : 40 Question Id : 973597398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TATH-TFES A, O s O 3w Faa § T 3T g ot & B ReREe 0 ste o fE
*Ticshe® = WANT fohdm ST 27

Options:

. v CTRL + Right Arrow, CTRL + Left Arrow
- » CTRL + Down Arrow, CTRL + Up Arrow
- » CTRL + PgUp, CTRL + PgDn

4 CTIRL + > CTRL + <

Question Number : 41 Question Id : 973597399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To debug and analyse a formula step by step by checking individual part of the formula is known as:

Options:
, w Error Checking
> « Evaluate Formula

- » Group / Ungroup

4 % What-If analysis

Question Number : 41 Question Id : 973597399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T b-ma-ihna.h F HA-HA Ty 7 Fw F18 30 wuEg i @ R s st suer Eeewor a3 &

T FFd &7

Options:

1 ® Wﬁﬁ

Udegue BiHe
(% 9

2. ¢

. % 9 | HeAH

, & RETH TASiad

Question Number : 42 Question Id : 973597400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The value of the EXCEL expression = POWER(2, 10) would be:

Options:
1 v 1024

-~ % 1000
3 % 5
4 B 20

Question Number : 42 Question Id : 973597400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TFHA TFEaeld = POWER(2, 10) & 9RUTH Hza &4T g2
Options:

|« 1024

> % 1000

z % D

4 % 20

Question Number : 43 Question Id : 973597401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘What will be the result of the EXCEL expression = MONTH ("4/4/1977")?

Options:

; % April
X

= # #Value!
4 % 1

Question Number : 43 Question Id : 973597401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TFHd TFEANA = MONTH ("4/4/1977") &1 9ROTH FeT a1 grem?

Options:

= April

o« 4
= # #Value!

4%&1

Question Number : 44 Question Id : 973597402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A product procurement list for a warehouse is being prepared. ™No two entries can have the same Product ID. Which of
the following features would Highlight the Duplicate enfries?
Options:



1 # Find & Select
> % Sort and Filter

-  Conditional Formatting

4 % Watch Window

Question Number : 44 Question Id : 973597402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
UF e F AT v 3 f w5 uE A f o o & O o g sfafest fr s amE v
S T 8w gl PeEe few # v sie T few gveee s & et s

Options:

|« BES 3R fEeEe
. % T AT heex
5  THETIAT WA
4 % I 9=

Question Number : 45 Question Id : 973597403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To compare Sales Values from two different branches of a distributorship what type of chart would be useful?

Options:
1 % Scatter Chart

> « Bar Chart
z % Dot Chart
4 % Area Chart

Question Number : 45 Question Id : 973597403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
v a1 27 FEe e ¥ W grw & gFF & & 0 B R & 91 3939 & 5ET 87

Options:

, % TheY T
> v AR L
5 % Sic ¢
4 % TRET =

Question Number : 46 Question Id : 973597404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A warksheet contains Emnployee Monthly Salary Records, Which of the following techniques would be useful to Check
atid Remove the Duplicate Entries of an Employee record?

Options:



, % Conditional Formatting

~ % Sort

-  Remove Duplicates

4 % Filter

Question Number : 46 Question Id : 973597404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

UF FRfie H FHANEAT F ATaF 999 &1 sy oaffa & F=e@a 7 ¥ #i9 @ a0+ F
FHAN F NeFls i 3oere wfafedl 71 3% F= 3R g7 = & e 399l & F=ar 27

Options:

| % HETATT BIATEI
2.%3'9%

, RHT ere
3

4 ® Ttheet

Question Number : 47 Question Id : 973597405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A Bill Collection Centre with multiple branches in the different parts of a city requires collection amonnts from
individual branches along with the smn of collections of all branches. Which of the following methods would serve the
purpose?

Options:

1 # Goal Seek

> # Sort

3 % Filter

4 « Subtotal

%

Question Number : 47 Question Id : 973597405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

% IET F ST BrET 3= armnsT 99 v e e Ot & 9edE wET § FEE-HAE
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Options:
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s u ot
4 v TEEIEH



Question Number : 48 Question Id : 973597406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an Excel file extension?

Options:
1w SLX

5 % XLW
s % XLS
4 % XLSX

Question Number : 48 Question Id : 973597406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

F=fafEa 7 @ Fi7 o1 TFeT o0 BIEd #7 TFHT Jar 87
Options:

| ¢ .SLX
o % XLW
s % XLS

4 % XLSX

Question Number : 49 Question Id : 973597407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Introduced in Excel 2010 and later. a tiny chart that can be put in a worksheet cell is known as:

Options:
1 % Rulers

> % Gridline
5 Sparkline
4 % Markers

Question Number : 49 Question Id : 973597407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o - R S Oyl ol - oy e ey e e R s ot e s el - e i~ o - o e
o4l g, I &9 17 & == a7 &7

Options:

1_%@1&
E_éﬁﬁu%?—ns?-r
. » FATHOTS
4_-%3::”#

Question Number : 50 Question Id : 973597408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
The EXCEL function = Trim(* Excel Data ™):

Options:

, w Trims the string at the first occurrence of a white space —*”
- % Trimsonly the spacesbetween the words—* ExcelData”
3 ®

Trims the white spaces from both ends including the spaces between the words — “ExcelData™

5 Trims the white spaces from both ends: spaces between words are unaffected — “Excel Data”

Question Number : 50 Question Id : 973597408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TFHA FFUT = Trim(“ Excel Data ”):

Options:

| % ST TIW & UgS HFH WA T H A Far g - ¢
, « aol Al F A= F T F TH Far § - “ ExcelData

e
arar R ¥ =giee T9W & Y-y =Sl & €19 & TOW & off *F Far ¢ - “ExcelData”

4 &

arar BT & 2= T9 # TF #1ar £ oedr F 919 F TF F {IAET AT £ - “Excel Data”

Question Number : 51 Question Id : 973597409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“Telenet”. an application layer protocol name stands for:

Options:

, w Telephone Network

o  leletype Network

z # TeleComnect Network
4 % Television Network

Question Number : 51 Question Id : 973597409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

“Telenet”, T T ST Wik g, fogar 39T &

Options:

b Y Y [
3 % Clolehaldc oicdeh

4, % SRS Heaw



Question Number : 52 Question Id : 973597410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of sharing. processing and management of files and documents among several users and/or systems over
fhre internet 15 conumonly known as:

Options:
1 +« Online Collaboration

- w Searching
- u Chatting
4 % Socializing

Question Number : 52 Question Id : 973597410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TAT A F= IUEERSTAT How fresw ¥ O weew i SiEaEen & 9, gt it deee
Options:
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EEADING COMFPEEHERSION
Section Id : 97359776
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 97359776
Question Shuffling Allowed : Yes

Question Id : 973597411 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension



Read the following passage and answer the questions given after it.

In sports, the term ‘great’is distributed liberally. attached to single
performances as well as to consistent performers. Most people agree
that greatness can be achieved only in the long-term performance,
while others are convinced that a single performance (e.g. Bob
Beamon’s long jump at the Mexico Olvmpics) meets the criterion.

Anil Kumble qualifies as GREAT on all these counts: An 18-year long
career, the test bowler’s ‘greatestever achievement - all 10 wickets in
an innings and his tally of 619 Test wickets topped only by two
bowlers. Butit is the mixture he contains thatmakes him fascinating:
toughness and dignitv, self-assurance and empathy, the ability to focus
on the details and understand the big picture all at a time, an awareness
of the meaning of his sport and the flexibility to adapt. He is an old-
fashioned cricketer in modern garb. Anyone searching for the abstract
qualities unique to the game - fairness, spirit, gentlemanliness - need
not lookbeyond Kumble.

In October 2008, he had to make a difficult decision. The spirit was
willing but the flesh was 38 years old. Ultimately time, the
sportsman’s greatest enemy, claimed Kumble. His decision to retire
saddened his fans for he was not just a great bowler, he was a great
inspiration. He fought hard without even once compromising on
dignity or integrity, and thatis as important as the number of wickets
he took.

The sight of Kumble emerging from the pavilion in Antigua some
years ago, ready to bowl, his face bandaged, is one of cricket’s most
inspiring moments. He sent down fourteen overs in a row and became
the first bowler to dismiss Brian Lara while bowling with a broken
jaw. He was due to fly back to Bangalore the following day for
surgery when he said, “At leastI can now go home with the thought
thatI tried my best.”

“It was one of the bravestthings I've seen on the field of play,” said
Vivian Richards.

Sub questions

Question Number : 53 Question Id : 973597412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
At which rank has Anil Kumble been

placed after taking 619 test wickets?

Options:
1 % First



> % Second
3 « Third

4 % Fourth

Question Number : 54 Question Id : 973597413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A single, great performance by Anil
Kumble was when he:
Options:
participated in long jump at the Mexico

| ® Olympics.

- % decided to retire from the game.

dismissed Brian Lara while bowling with

- » @ broken jaw.

4 « tookall 10 wickets in an innings.

Question Number : 55 Question Id : 973597414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What/Who is a sportsman’s greatest enemy?
Options:

1 « Time

> % Records

5 % Injury

4 % Rivals

Question Number : 56 Question Id : 973597415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Bob Beamon’s long jump at the Mexico Olympics
1s an example of a/an:

Options:

, = great performance by a group

- w greatand long career
o o great, single performance

, % average performance by an individual

Question Number : 57 Question Id : 973597416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The style of the passage can be best described as:



Options:
1 % Narrative

o o lNspiring
= % Emotional

4 % Romantic

Question Id : 973597411 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH
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Sub questions

Question Number : 53 Question Id : 973597412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 54 Question Id : 973597413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

|y RIFHD! S H o6 Fe A ST forar o
, » A ¥ Remw g= @ fav BT am

g FGS & WY Fearet Hd g TS TR
5 % P HIST foRam o

4 v TF 9 # @l 10 B o

Question Number : 55 Question Id : 973597414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ot TEomsr 1 99w 991 AT FEA g7

Options:
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3 % =
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Question Number : 56 Question Id : 973597415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 57 Question Id : 973597416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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- v WOTETS
o W HATdIcHR
4 % THT
OUANTITATIVE AFPTITULE
Section Id ; 97359777
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 97359777
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 973597417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Find the average of first ten multiples of 8.

Options:
o R 41



T B 42

4+ H

Question Number : 58 Question Id : 973597417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

8 F U TH WU F iHaT AT F

Options:

Question Number : 59 Question Id : 973597418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

After selling 70% oranges. a fruit seller had 360 orange left. Originally, how many oranges he had?
Options:

1 % 1080

> % 1400

z % 1750

4 « 1200

Question Number : 59 Question Id : 973597418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
70% AR 1 TR FmA F A, v w s & 9rE 360 SRE a=ar £ o # IEE Oy e
Options:

% 1080
- % 1400
2 % 1750
. v 1200

Question Number : 60 Question Id : 973597419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Har anid Swgatha can do s plece of work 15 days. Bandho and Har can do 1t 12 days while Sugatha and Bandbue can
do 1t in 20 days. Hari alone can do the same work in:

Options:
|  20days

- # 30days

5 w 40days



4 w 00days

Question Number : 60 Question Id : 973597419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2t A g=mEr v w1 & 15 GF # = w9y s Efr 3w 12 RBE A w ws E s gae
AT Fy 5 20 oA # X mEA E) BT o F F wee Bee RS A ww w7

Options:

1_,.*;;-«201:8,?
, » 30 &=
3.%@40%*?"
4 = 60 fe=

Question Number : 61 Question Id : 973597420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The cost of 1 litre mills is Bs. 200 In what matio should water be mixed inomilk so that the cost of milk = reduced o Bs. 158%40e?

Options:

1 % 1:2
> o 123
= % 1:4
4% 135

Question Number : 61 Question Id : 973597420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1_&51

2
>oT 13
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Question Number : 62 Question Id : 973597421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Aman 15 a ericketer and his average score in 10 matches is 440, If his average score in first five matches 15 43, then what
i5 his average score in the last five matches?

Options:
1 ® 38

A 37

=z B 36



4. 33

Question Number : 62 Question Id : 973597421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

; » 38
- % 37
2 % 36
4 v 35

Question Number : 63 Question Id : 973597422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Find the difference between the areas of circles having radius 12 cm and 5 cm.

Options:

| x 187cm’

, % 125cm’
5 % 154 cm?

4 « 374cm’

Question Number : 63 Question Id : 973597422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
12 B 3R 5 A3 B=ar awer geal & S9%ar F# AR AT F

Options:

. % 187 T T

o = 125 I A

- % 154 T WA

4 v 374 T WA
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Section Id : 97359778
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6

Section Marks: 6



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 97359778
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Question Number : 64 Question Id : 973597423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Study the following arrangement carefully and answer the question given below.

RESDAPS3ITIQ79B#2K% UIMWA4*I8N

Which of the following is exactly in the middle of 3 and 1 in the above arrangement?
Options:
1.¢¥ B
> % K
= % 9
4 ® #

Question Number : 64 Question Id : 973597423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
f=fofeT e 1 aamEs segga F{ 3R A= fGT 717 gear &1 3eR <

RESDAPSITIQT79BH#2K%PU1TMWA4+J8N

SRET TIFENM H 3 3t 1 & 8 f9 #§ =g ¥ ¥ #i7 @ BT 22

Options:
1.« B

E%SK
3 % 9
4 % #

Question Number : 65 Question Id : 973597424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the followmg question two words are given, These words ane related to each other m some way, Another wond 15 also
mven, Fid ol the relationship betweéen the first two words and choose thie word from the given alternatives, which
bears the same relationship 1o the third word., as the first two bear,

humbai @ Maharashtea 2 Trivandom @ 7

Options:



1 # Kolkata
> w Gujarat
= « Kerala

4 # Sikkim

Question Number : 65 Question Id : 973597424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Feremalid oed & &f ¥eg & 910 §1 OF g B 7 ¥ vE g5 ¥ med § v 3w weE o R
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Options:

1_%@?"@?‘“

o B 2

3 v A
4 ® m

Question Number : 66 Question Id : 973597425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Rahnl starts fromm s house towarids West, After walkimg a distance of 30 metres, he tumed towards right and walked 20
metres. He then nmed laft and moving a distance of 10 metres, tumed to his lef agmn and walked 40 metres. He now
turns to the left and walks 5 metras; finally be foms to his left. In which direction 15 he walking now?

Options:

1 « North
- % South
= % FEast

4 % South-West

Question Number : 66 Question Id : 973597425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1, ¢ 3cal
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Question Number : 67 Question Id : 973597426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A lady introduced a man as the son of the daughter of the father of her uncle. The man is lady’s:

Options:
1 « Brother

~ % Son
z % Uncle
4 % Son-in-law

Question Number : 67 Question Id : 973597426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1.#’*”'-’%

o ® 2
= % =T
L % SHE

Question Number : 68 Question Id : 973597427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If “+ standsfor x°, “—for+’, *x for -’ and *+ for +’. Find the valueof 26 + 74 — 4 x 5 = 2.

Options:
;% 220

> % 376
3 o 478
4 % 488

Question Number : 68 Question Id : 973597427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TR+ IMAT X, “F AT & | x FHT - AR+ FHT + g, A
26 + 74 - 4 x 5 + 2 T AT AT Hif=T]

Options:

% 220



. % 376
-« 478
, = 488

Question Number : 69 Question Id : 973597428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the missing character in the following figure.

Options:
S

-2

o R 3
=z W 4
4 18

Question Number : 69 Question Id : 973597428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Hpfa A Fod 9 AT HIfAT

Options:

1%-52
2&33
5% 4
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Question Number : 70 Question Id : 973597429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Arjuna Award’ is given for which of the following categories?
Options:

, w Bravery on battlefield

o o Outstanding performance in sports

- w Exceptional service in emergency

, # Exceptional service of slum dwellers

Question Number : 70 Question Id : 973597429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 71 Question Id : 973597430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who among the following developed the concept of Human Development Index (HDI)?
Options:
| = Amartya Sen

> % A.S. Kadir
= » AlvaMyrdal

4  Mahbub-ul-Haq



Question Number : 71 Question Id : 973597430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fr=fafea & ¥ fFea A Rerm g (HDI) #r sEurer Refaa $?

Options:

1 #® mﬂ?‘r
zlggv.m.m
5 % Hodr S

HEI-301-8h

i

Question Number : 72 Question Id : 973597431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The International Criminal Police Organization (INTERPOL) has its headquarters at:

Options:
1 & Lyon. France

5 % Rio de Janeiro. Brazil
5 % Dar-es-Salam. Tanzania
4 % New York. USA

Question Number : 72 Question Id : 973597431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

HersET HTUfes gferd ®@ereeT (INTERPOL) & HEITed Fal X oud 872
Options:

| &L, W

o w R S SFARE, S
. % GR-UH-HETH, dierar

o5 =JTeh, YUAT

Question Number : 73 Question Id : 973597432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first Olympic Games were held in which year?

Options:
1 ® 766 BC

> % 676 BC
3 « 776 BC
4 % 667BC



Question Number : 73 Question Id : 973597432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ugalr 91 TE Tall & AT FiT § 99 §/ oy aar or?

Options:

| % 766 BC
., = 676 BC
2 « 776 BC
. = 667 BC

Question Number : 74 Question Id : 973597433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who has played the lead role of Milkha Singh in the film ‘Bhag Milkha Bhag?

Options:
1 % Dhanush

> % Chiranjeevi
=z % Aamir Khan
4 « Farhan Akhtar

Question Number : 74 Question Id : 973597433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ﬁm‘mgﬁwm’ﬁﬁmﬁ?ﬁ@aﬁwﬁmﬁﬁmﬁﬁﬁ
Options:

1 ® 2

o> % TEIGEhET

3 % HITAT @1

4 v P FAEN

Question Number : 75 Question Id : 973597434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who is the author of the novel ‘Les Miserables™?
Options:

1 % Fedric

5  victor Hugo

- % Steven Spielberg

4 % Alium Tofler
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Question Number : 76 Question Id : 973597435 Question Type: TYPING TEST Display Question Number : Yes



Innovation has been humanity's saviour time and again. Antibiotics gave us longer lives. Airplanes
dramatically expanded our access to the world. Internet has leapfrogged communication and the social matrix.
Maturally the innovation engine is also our biggest hope in the battle against global warming. The real
breakthrough will be clean energy solutions that are affordably priced. And one way to get there is by
increasing R&D spending. If the Paris talks vield a solid and substantial increase in global B&D pledges, that
would really strengthen the fight against climate change. Getting to a true breakthrough means both
governments and the private sector hawve to be on board. On the latter front, the Breakthrough Energy
Coalition that Eill Gates announced on the first day of the COP 21 talks is promising. The Sustainalble
Innowvation Forum (SIF1E) was the largest business focused event held during the annual Conference of Parties
(COF) last year on 7- 8 December at COFPZ21 at Stade de France in Paris. Forurm convened Cross-sector
participants from business, Government, finance to create an unparalleled opportunity to bolster business
innovation and scale the emerging economy. [t commits billionaires from across the world 1o invest big money
in clean-energy technology. Jeff Bezos, Jack Ma, Ratan Tata and Mukesh Ambani are sorme of the notables.
The drivirig idea 15 that incrermental Improvernents just aren't enough given how many people are waiting to be
unlocked from energy poverty. As Indian climate envoy Ajay Mathur has said, people have to lead a
worthwhile life on a worthwhile planet. Or as Gates said, you can't tell somebody who doesn't hawve lights they
should cut dowrl on energy usage. Developed Ccountries have oCfcupied vastly rmore carbon space thar
developing countries so they must bear the greater burden for battling this. India is willing to cut back its
investments in coal if developed countries give it proper financial and technological assistance to shift to
cleaner energy. It's unjust to ask the poor to choose either green or growth. The Breakthrough Energy Coalitiorn
could become a good example of the rich taking responsibility and leadership commensurate with their greater
wealth and technical capability. And the need for a breakthrough is quite urgent. It's a disturbing truth that
the major techneologies in our life today are late 19th and early 20th century innovations - like cars, planes,
telephones, TV, Even the internet was invented' back in the 305, The next quantwr leap is overdus. How about
solar paint that turns our windows and walls into hi-tech sun traps to generate electricity? Or technology that
sucks out FM2.5 from the air and wraps it into neat little construction pellets? Indian cities reeling from air
pollution could do, in particular, with the latter.
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